
LECTURE2
Quick review of the SUSYSO Eterris
solution) to the hydrogen atom .

· Goal : obtain all ECO eigenstates of
↑ The radial Schroed in each channel.
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Now we want to use these to generate
excited States .
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Now we can go again around
the loop :
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And finally we get the full Columb spectrum
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or
, letting n = l + v+ 1

,
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This procedure we just did is part of a

much larger context of 'shape invariant

potentials', a category of ID potentials
defined bythe relationship
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Hs and Hs+ are SUSY HAMS - so

their spectra are identical except for He's
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In conclusion
,

we used SUSY HAMS to

solve the hydrogen problem . This introduced

a wider concept of factorizable Hamiltonius

and SIPs ,
which are another way of

cotegorizing all analytically solvable systems !

Hestorically
,

Mr. Schro himself wasthe

first to factorize the Coulomb problem !
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